Newbie - DTL Test Tool Works - DTL Doesn't
Published on InterSystems Developer Community (https://community.intersystems.com)

Question
Yakov Berger - oct 27, 2020

Newbie - DTL Test Tool Works - DTL Doesn't

Newbie Warning...
| have a DTL which accepts HL7 2.3:O0RURO01 And Transforms to Custom Request Target

the target request contains an array of a custom class named OBXobj with some %string properties which
Extends (%RegisteredObject, %XML.Adaptor)

in the DTL i have a for each loop which should copy OBX segments to the the request.
the DTL test tools works and builds a XML with the OBX info.
when running the Production i get NULL in the Object.

see attached images

1. Test

|r1put MESSage (SUPPOried Tornmars: HL/ Input)

Output Message

<InsertMonResultInfoRequest>
<messageControlld>HP1B826223738.020K0R0ONAT3368</messageControlId>
<deviceDeptName>Quarantina</deviceDeptiamas
<deviceBedNum>Bed 6</deviceBedNum>
<observationDate»28201826223723¢</observationDate>
<OBXobi>
<0BXClass OBXobjKey="1">
<MDILCode»>8482-f8f5</MDILCode>
<result>MONITORING</result>
</0BXClass>»
<0BXClass OBXobjKey="2">
<MDILCode»00882-4bbd</MDILCode>
<result»1.6</result>
<unitsMDILCode>8084-8286</unitsMDILCode>
</0BXClass>»
<0BXClass OBXobjKey="3">
<MDILCode»>8882-4822</MDILCode>
<result»82</result>
<unitsMDILCode>8884-8aa0</unitsMDILCode>
</0BXClass>»
<0OBXClass OBXobjKey="4"3»
<MDILCode»>8882-4bb8</MDILCode>
<result»94¢/result>
<unitsMDILCode>08684-8228</unitsMDILCode>
<refDesc»98-188</refDasc>
</0BXClass>»
</0BXobj>
</InsertMonResultInfoRequest:
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2. Message sent.

Expand All

§ | <OBXobj>

3. Transformation

<?xml version="1.8" ?>
<!-- type: Laniagdo.M5G.Monitors.InsertMonResultInfoRequest
i<InsertManResultInfoRequest xmlns:xsi="http://www.w3.org/2001/XMLSchema-instance"
ixmlns:s="http://www.w3.org/2001/XMLSchema" >
i<messagetantrulId>HP1G25223?33.GZGKGROMA?BBE<fmessagetontralId}

i<deviceDeptName>Quarantine<fdeuiceDeptMame>

| |<OBXClass OBXobjKey-"1"

| |<OBXClass OBXobjKey-"2"

| |<OBXClass OBXobjKey="3"
.| |<OBXClass OBXobjKey="4"
; | </0BXob3>

</InsertMonResultInfoRequest:>

id: 6146 -->

i(deviceBedNum}Bed 6</deviceBedNum:>
E<observationDate)29291926223?23<fobservationDate)

¥si:inil="trus"»</0BXClass>
xsi:nil="trus"></0BXClass>
®xsi:inil="trus">»</0BXClass>
xsi:nil="trus"></0BXClass>

[ NTEQ

result()

7 0BXgrp()

unitsMDILCode()

[V oBx

refDesc()

[

: SetIDOBX

v A v i v A

refAlert()

2: ValueType

[V 0BXobj()

(P> 3: ObservationIdentifier

O—f———————__MDILCode

4: ObservationSubID

result

| 5: ObservationValue()
(P> 6: Units

unitsMDILCode

[ refDesc

(S U B S [y U B U U W ) G

7: ReferencesRange

[ 8: AbnormalFlags()

10 set
11 set
12 set
13 set
14 endeach

target OBXobj (k1) MDILCode
target. OBXobj.(k1).result

target. OBXobj.(k1).unitsMDILCode
target. OBXobj. (k1) refDesc

Whats my problem?

source {PIDgrpgrp(1) CRCgrp(1).OBXgrp(k1). OBX:Observationldentif..
source.{PIDgrpgrp(1).ORCarp(1).0BXgrp(k1).OBX:ObservationValue()...
source {PIDgrpgrp(1).ORCarp(1).OBXgrp(k1).OBX:Units.identifier}
source.{PIDgrpgrp(1).ORCarp(1).0BXgrp(k1).OBX:ReferencesRange}

9: Probability s}
[ 10: NatureofAbnormalTest jol
[ 11: ObservResultStatus )e)
[> 12: DateLastObsNormalValues o)
13: UserDefinedAccessChecks o
[> 14: DateTimeoftheObservation s}
Actions T 1 == v -
# Action Conditi Property Value Key I Transform
4 set target.observationDate source {PIDgrpgrp(1). ORCgrp(1).OBR:ObservationDateTime}
5 foreachw source.{PIDgrpgrp(1).ORCgrp(1).0BXgrp()} k1

Page 2 of 3



Newbie - DTL Test Tool Works - DTL Doesn't
Published on InterSystems Developer Community (https://community.intersystems.com)

Thanks!

#InterSystems IRIS for Health

Source URL:https://community.intersystems.com/post/newbie-dtl-test-tool-works-dtl-doesnt

Page 3 of 3


https://community.intersystems.com/tags/intersystems-iris-health
https://community.intersystems.com/post/newbie-dtl-test-tool-works-dtl-doesnt

